Homework #5 (Show complete set-up for all problems, use proper significant figures.)

1. Distinguish between an element and a compound.

2. Classify each of the following as being primarily a physical or primarily a chemical change.

a. Formation of a snowflake

b. Boiling water

c. Boiling an egg

d. Dissolving sugar in water

e. A leaf turning yellow

3. 18 g of oxygen is reacted with sufficient nitrogen to make 56 g of nitrogen dioxide according to the following reaction:  

2 O2(g)  +  N2(g)  (  2 NO2(g)  

If the reaction goes to completion, how much nitrogen reacted?

4. The specific heat of zinc is 0.096 cal/goC.  Determine the energy required in Joules (4.184 J = 1 cal) to raise the temperature of 250.0 g of zinc from room temperature (24.0oC) to 150.0oC.

